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(i) Data Sufficiency
B&R0% DoARDS

Note: In questions numbered 1 to 20. a question is followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BP5S 1508 20 385 2D )3 (H 1595 .8 (59, o0 (Bod LIl ed Hden Ko Boh
DStaren  SBoTen @dsoB@on. Ay SB0FTR) SHArAon), @t))d
IHdSoren (D)5 JSrprad) adiothd dTsTren efHErddy So @ b
DT Bomre). & AT S (Bod Ir0s8% dr(Bren &H38Ao) (1) Sod (4) S85%
B8 mond 2arand JohE TBobod.

(a) 15%3% HArrdo aBd oh (HISSoISrSH Sosaond b saan (1) ™
HloSobh.

(b) H¥3%0 JHIrprdo adioch (HSSd0 I Srdsdh dusdhond D zaw (2)
™ $h8oSodk.

(€) (HE15% HIrErdo ad o HSdaren LI O3 Sogddbon @odhd D
2.4563 e Hor 00 sEPS aaen (3) T Hhiodod.

(d) (H¥% HIrgrdo aBjodkhs (Hodaren LI ¥0d Srar SursgRo 5F @ddY)
S8 030 @3HE5HondB b =acen (@) T HBotod .

How many teachers teach Physics?

D0 B0 SaRERCIVED P85 TR0 HPPRT?

I There are 11 teachers who teach Mathematics or Physics

BiSTRH0 St PPBS B0 HPoD T 11 oD aRERCEN) SR,

Il Of these 11 teachers 7 teach Mathematics and 3 teach both

Mathematics and Physics
5,15 &%, 11 000 SaRECineS® 7 Mt HBBSBHO SPHRD Hoain
Bty HiSTHo HOTE FPAS5THO Dot HPRW.
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@)

Data Sufficiency
Be0¥ VoS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B 1508 20 385 oD S 1598 (595 2.8 59, od (Bod LI @ Hen de> Bodh

HSBaren SBoFen AdsnBron. W0 SB0FTV) SHBrAod), @S
IDSSoren (D)5 Hdregrad) aBdiodhd JusPen efHeodr So @d b
AT Bomre). & AT S (Bod S,rd88,8 Sr(@ren GH83PA0D (1) Dod (4) SE%
08 oS 2ot dohl Tabhob.

(a) 15%25 HArErSo 2T oH % DSBS I SPS R SorsRond b zaen (1) T
MBodod.

(b) (H¥350 DSrerdo a0 % (D53550 I SrsdH HosdHhond b =aaw (2)
™ HBododk.

(©) (D415 JSrerdo adrohd Hddaren LI 03 dogddbhon @odHds 9
2.4363 e S 500 TEFB maran (3) m Hdodob.

(d) 15915 SSrrdo adjochd (Hddaren L X0 Srar STsRo 5 @dddH
LB 050 @3H8Sond D aaan (@) - $8o0b0d .

Is the line PQ parallel to X-axis?

X- o308 PQ dot¢bw Hiroscsr?

18

Coordinates of P are (4. 5)

P &3n¥) ddrascex (4. 5)

Coordinates of Q are (2. 3)

Q dBwEy ddrasten (2. 3)
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(i) Data Sufficiency
B00¥ DoDS

Note: In questions numbered 1 to 20. a question is followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

DS 1 100 20 5850 2D 1S 158 1535 2.8 (H¥), o0 (Bod LI ed H&%en Ko Bodd
DdBaren SToTen @SspBFon. WIS ST0FTR) Godiriod), @)
DS3BTen (D15 DSrerad) B o JusTen eHEolr Do @l b
AT Bomre). & TS (206 SP0SE % dr(@ren SHBFA0D) (1) Mod (4) S55
28 wond aarad Jo0dE Tohodbk.

(a) 153250 HSrErd0 T H0HE DSBS I SPS T dorsRHond b 2o (1) ™
Hlodod.

(b) 154350 JHSrprdo @055 (Hdd0 I &b sh SHorgRSond D = (2)
™ HBotod.

() (D415 JSrprdo adjohd (DdSaren LI 50D Sugddon @othd O
2,%2.63 S Hur g0 TEFPB aaren (3) m Hiododb.

(d) (H¥1% JSrEEso ad)odhH (Didaren LI X0 Srae HursRo 5o edds)
SB030 @SHEHond 2 aaren (4) e HBododk.

What 1s sum of interior angles of the polygon?

& LA VoS Srasne Bwgo KoS?.

I. Polygon 1s a closed figure

w0 R oSy aeo

II. The polygon has 7 sides

250022 2 7 eovendTE) on
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(i) Data Sufficiency
B&R0¥ Do

Note: In questions numbered 1 to 20. a question is followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sutficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

Brhd 1 50 20 85 90O 158 159,57 2.8 5%, o°d (B0 LI @ Hden fo Bodh
HSdmren &BoTen @dsn@on. @)D LSBT GHdIFEAod), @dyo
DSBoren (DA% JSFEaR) adjobhd dosTen olHeedr Sor @d b
AT Boe). & AT (308 SrLH 6% Sr(Bren &HBFA0D (1) Dod (4) SE%
B8 @ond 2ar2nd JodE Tobod.

(a) 19%3% H&rerdo 2B 0% DIVl I SPSih Sosddhond D aaew (1) T
MBodod.

(b) (H¥1%0 JHSFEES0 aF 0% (HIBI0 I $r$dh Sogadbond D =arew (2)
™ $8odob.

(€) 1D¥2% Hdrgrdo adjohd DSdaren LI ¥0D Sosddhon @okHhd O
2.6563 Srme S sho o Erd saran (3) m HBododb.

(d) (D25 Hdrgrso adiohd |DSSaren LI ¥Dd Srar ST g0 oF @
S8 030 @IH5HondB b =aren (4) m Hlodod.

For integers ¢ and b is (@° + b*)"* an integer?

pmomen a Mooty b o (@° + 7)1 28 Frmoshn?

I @’ + b? is an even integer
a® + bl as DOV,
I1. a® + b’ is equal to the volume of a box with dimensions 12cm.

18cm and 125 cm

12 %0.f0., 18 do.fo. oociy 125 Do.f. Hodrnsiven 5085 25

DB PobHosrR08 «° + Diodrdd.
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@

Data Sufficiency
B5&00%¥ DoUNS

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

JP3S: 1006 20 555 2D IS (H8 1535 2.8 159, o0 (Bod LI ed Hen o> Bodb

Hddaren dBPo7en @dsaBon. A0 SBoFTR) Godrfiod), @d)d
DSBaen (D45 SSrprad) adjohd dTsTen eHEwosr Bor @d
DT Bomre). & AT Em (2od Ir0a8,E Ar(aren SH38rAod) (1) Hod (4) S8
28 @ond 2arand Joh¥ Tobodb.

(a) 1H¥3% HSrrdo aBjoH 5 (HSSS0 I SPSH SosRdond b aarew (1) ™
MBodod.

(b) (H¥1% HIrrdo adjohH (D50 I Srdsh Sovsidhond b maww (2)
™ $8oBoh.

() D435 JHIrrdo adyjodkhH DSoren LI ¥ Sogdbon @oHds O
24563 $roe Horsdo s EPS aaren (3) m HBodbob.

(d) 1515 HIrgrdo aBdjochH (Didaren LI DD Srmr ST R0 58 @ddD)
S8 00 @dHESond D 2aren (4) - HBodod.

A B C D 1s square mscribed in a circle. What 1s the area of the square?

25 H85068 LosgBERn Sevopsw A B C D.

& SHTHHD B, DBALID H0S?

IL.

Radius of that circle 1s 1 unit

S F,8500 D360 1 oG

The center of that circle 1s (0. 0)

& H,80 w3, Zogo (0. 0)
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(i) Data Sufficiency

BSR0E DosDS

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

D55 1 15008 20 S8% 2D 1S (H8 1591575 2.8 (5%, o (Bod LI ed Hden Ko Bodk

IL.

RSB aren SBPomen @dsHTPron. WD SB0FR)) SHdBrAod), @)
DSBoren (D45 SSrprard)) aBjodhB Husen edHErodr Tor @ b
DT Bomre). % AT S (08 Ir085% Sr(@ren SHAPAo) (1) Do (4) S5%
28 @ond BaTa doDE Tabod.

(a) (H¥% JSrgrdo 28,005 (BSBI0ISPSH SosRhond b 2o 2w (1)
HBodiodh.

(b) 15%350 JAPEEI0 @B 0N H [DSDSS0 I Srebhh SorgRSond D marew (2)
™ %8o0dob.

() 1H43% JHdrprdo adrodbhh Hiddaren LI 20D Sogddbon e@odhds O
2,463 S Horsd0 TETFS oy (3) T HOobob.

(d) 5935 HSrprdo aFjokhs (Dddaren LI 0D drar SugRo 5¥ @bl
SB0I0 @dHESond o aaren (4) - HBodod .

Among the five rivers R; Ry R; Ry and Rs which one is the short river?

amdmen R Ry Rz Ry Rs 08 50 8.0 2856 60 00 ?

Rj 1s the longest river and R 1s shorter than R, but longer than Rs

R; 005 536 50 Soocsw R150, R) 508 8050 Rs 508I:360.

R4 1s a little shorter than R, and a little longer than Ry

R4%8, R: %08 Sodo areda Hoain R S0l Sodo apEa3H0.
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@

Data Sufficiency
58004 DoPDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BI55 115008 20 585 2D S 1D (H¥685 2.8 (54, T (Bod LIl eod Hhdden Ke> Bodh

PdDaren &BPozen adsa@on. @)N SB0FR)) GHdrAod), @d))d
DSSaren (D)5 JSrrad) aB ot dosren edHwosr So @d b
AT BoTre). % AT (208 088,38 dr(dren SHBPA0D (1) Hod (4) H5%
B8 @ond 2arand JodX Fabob.

(a) 1H%1%5 JHSrprdo 2B 0% 1DSBS0 1SS Sosnond b aaen (1)
HBoSod.

(b) H43%0 HIFEHo AT joch By (HIBJ0 I Srbsh HosRdhond D maan (2)
m HBodok.

() 1H43% JHdrgrdo adjodhd Hddaren LI 0D Sougddon @odhd O
2,453 oo Do 00 TEPS g (3) T HBodobk.

(d) D% Hdrprdo ad jodhH Hddaren LI ¥DD Srme HorgRo 5K @ddd)
SB030 @lHESHond b aaren (4) - $80%06 .

Is the positive integer # a multiple of 1757

Gt JPsomys 17, 175 s, 28 roide?

II.

125 divides u

1 © 125 gpbiuod.

35 divides n

1 ® 35 z8k008.
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(i) Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh
HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 HSrprdo aBd 0 (H5550 I Srdih Sosdhond D aaren (2)
™ $H8odob.

(c) 1H¥3% JSrprdso adjokhd Hsdaren LI $0D Jusgdbon e@odhd O
2,563 S Sorsdo TEFB earen (3) T HhBodbod.

(d) D415 JSrgrdo adjockhd Hadaren LI 0D Srar HTsoo ooF eddd
S8 040 @5H85ond D =aren (4) T HBodod.

What 1s the integral value of x ?

Y G, HPTR0S Densd 20 ?
1; 10<x<20

II. 10 <9 x +1<20

Options:
1. %1
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(i) Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh
HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 HSrprdo ad o (H5550 I Srdih Sosdhond D aarn (2)
™ %H8odob.

(€) D935 SSrprdo adjodkhd HdSaren LI $0D Sozddon e@odhd D
2.%7,¢3 S Horsdo TEFS eaven (3) T HBodbod.

(d) 15415 JSrprdo adjockhd Hadaren LI 0D Srar HTsoo oF eddd
S8 040 @5H85ond D =aren (4) T HBodod.

Is N divisible by 487
483 N zrplosdatbaéom?
L. N=(a—4)(a-3)(a-2)(a-1). a=5
II.  Nis divisible by 8 and 6
8 Hocin 6 od 2pH0D 0.

Options:
1. %1
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(i) Data Sufficiency
B500% DoRDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given 1 the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BPSS 1 15008 20 385 QDS [H8 1515 2.8 (59, o0 (Bod LI e Hhddexn fe> Boch
maaren SdTPozen @dsaBron. @WL)S SBoFR) Goaddriod), @d)yd
DdBTren 1HI % JSrprad) aBdjodHhd dosTen eHedsr So @d ok
AT Bomre). & AT Em% (208 Srda6,E dp(sren &HA3PA0D (1) Dod (4) 8%
28 wond 2arand JoDE Tobob.

(a) 1H¥%0 HSrprdo adjodh B |DSES0 I SPSH HorsRsHond b aaaw (1) T
hBodod.

(b) (243350 DAFEEH0 T EH0 (Do IT S5r|eh SosRond N aaen (2)
™ HBodob.

(c) HI1% Jdrprdo adrjomhd HSdaren LI ¥ Sogddon @odhd D
2.%5.63 Sroe HTrgno TEFS aaan (3) m HBodod.

(d) (H¥3% JHdrprdo aBdrokhs 1HSSaren LI £03 Srmr S gRo ¥ e@ddd
S80f0 @IHEHond M 2=arzn (4)  HBotod .

Are x and y rational numbers?

X Sockn ) e O55Bch HosyeR?

I. X + v 1s a rational number

X+ ) 28 05chod dows

II.  xyis arational number

X ) 28 0568cD Do
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(i) Data Sufficiency
B&R0E DoRDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as T and II. You must decide whether the data
given m the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B 1 1 50k 20 3850 @S 158 1598 2.8 154, o0 (Bod LI ed Hden o> Bodh
HSBaren SToTen @dsa@Con. Ad LHB0FTR) GHdlrfod), =)o
IDSBTren 1DE 5 JSrprard) adjochd dTiTen eHErodr Sor @d b
AT Bomre). & AT G (808 Irddd % Sr(sren SHABFA0D (1) Do d (4) 5%
28 @oNS Bara ) JoDE Bohobh.

(a) 1H5%2% JSrprdo aBi0HH |DSES0I SPSH JusRHond b maew (1) ™
folodod.

(b) 5% % DSFEESo aBdjodh i Hdddo I Sribah Sorgndond D aaven (2)
m H8odbob.

() D935 JSrprdo adjohd HdSdaren LI 0D dugddon e@oihd O
2.5 63 e Horg00 TEFS aarew (3) m HBododk.

(d) (D915 JSrprdo adjohd (Hsdaren LI 0D Srmr STgno o¥ e@ddd
S8 030 @dH8S00d D 2o (4) e $8obod .

Is x = 93v6 divisible by 9
9 I8 ¥ = 9316 eBodadebonn?

I. v 1s divisible by 9
9dg 1 rbodutheod.

II.  yisdivisible by 3
33 1V 2eBodatheod.
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@

Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh

HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 HSrprdo aBd 0 (H5550 I Srdih Sosdhond D aaren (2)
™ $H8odob.

(c) 1H¥3% JSrprdso adjokhd Hsdaren LI $0D Jusgdbon e@odhd O
2.%7,¢3 S Horsdo TEFS eaven (3) T HBodbod.

(d) 15415 JSrprdo adjockhd Hadaren LI 0D Srar HTsoo oF eddd
S8 040 @5H85ond D =aren (4) T HBodod.

At how many points do the two circles intersect?

&3 Both HFdwen o), WoHoDY Pod owEotran?

[T

The distance between their centres 1s 15 cm

o8 SogHwen gl 650 15 Do.fo.

The radu of the two circles are equal

S Dot BB aRsARTEeD HRRHL
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(i) Data Sufficiency
B500% DoRDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given 1 the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BPSS 1 15008 20 385 QDS [H8 1515 2.8 (59, o0 (Bod LI e Hhddexn fe> Boch
maaren SdTPozen @dsaBron. @WL)S SBoFR) Goaddriod), @d)yd
DdBTren 1HI % JSrprad) aBdjodHhd dosTen eHedsr So @d ok
AT Bomre). & AT Em% (208 Srda6,E dp(sren &HA3PA0D (1) Dod (4) 8%
28 wond 2arand JoDE Tobob.

(a) 1H¥%0 HSrprdo adjodh B |DSES0 I SPSH HorsRsHond b aaaw (1) T
hBodod.

(b) (243350 DAFEEH0 T EH0 (Do IT S5r|eh SosRond N aaen (2)
™ HBodob.

(c) HI1% Jdrprdo adrjomhd HSdaren LI ¥ Sogddon @odhd D
2.%5.63 Sroe HTrgno TEFS aaan (3) m HBodod.

(d) (H¥3% JHdrprdo aBdrokhs 1HSSaren LI £03 Srmr S gRo ¥ e@ddd
S80f0 @IHEHond M 2=arzn (4)  HBotod .

‘What 1s the digit in the units place of n?

i1 GAg; 2.5 RHIS? &), ©03 HO?

L n=6% kisan integer > 1

n=06k k>1 28 HPRoE0

II.  »=8% Fkisan integer =1

n—=8% k>1 a8 BPROSHD
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(1) Data Sufficiency
B@0¥ DoRDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BPBG 11006 20 S50 D)8 108 (HY57% 2.8 (59, o°d (Bod LI ed Hden o Bodh
HdDaren SBoTen @lHgaBRon. QD0 SBoFTR)) SIBrAod), 2d)d
DS Eoren (D45 JSrprad) aBiodhd dusiTen eHErodr Sor @d b
AT Boore). % AT Ew (208 L0888 Sr(aren L8P0 (1) Hod (4) 5%
28 @ond 2ot JoDE Tabodb.

(a) 5% % S3rrdo 28055 |D5ES0 I SFSH Sos2H008 b 2omew (1)
HBodob.

(b) 1543% HIrrdo ad o E 1HSSS0 I Srsdh Svs2bond b aaran (2)
™ $HBodbobk.

() 15435 HIrgrdo adjohds Hddaren LI 40D Sosddbon @odhd O
2.%5,63 e ST g0 TEFS o (3)  Hdododk.

(d) (H¥15% HIrgrdo aBdroHhd (HSSaren LI X0 S HusRo wF e@ddd)
S80S0 edHndShond D aaren (4)  HBodod .

If @ and D are real numbers. 1s a = b?

a docio b DS domsen ©and, @ > D oPHsowe?

1. b is the real root of x*~ 1 =0

X2~ 1= 0 s, aedd dameo b

I a is the smaller of the roots of x2—1=10

2 — 1 =0 s, Soresved’ 1 O6.0.
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@

Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh

HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 Hdrprdo ad 0% 15550 I Sred HorgRdond D z=aven (2)
™ %H8odob.

(€) D935 SSrprdo adjodkhd HdSaren LI $0D Sozddon e@odhd D
2.%7,¢3 S Horsdo TEFS eaven (3) T HBodbod.

(d) 15415 JSrprdo adjockhd Hadaren LI 0D Srar HTsoo oF eddd
S8 040 @5H85ond D =aren (4) T HBodod.

If A+ ® and R 1s a relation on set A. then 1s R Transitive?

A # P Hoocinvwd A D Rasdonogooand, R Hosm donopse?

L.

I1.

Options:
1.v¥1

R=AxA

RcAxA



o %2
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(i) Data Sufficiency
Berod Do

Note: In questions numbered 1 to 20. a question is followed by data in the form
of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BG5S 1 50 20 385 a5 (H8 1535 .8 159, o) (Bod LI @d H%en o Bodh
Padaren dBo7Ten @dsHBoN. WIS SB0FTR)) GHIrAod), @d))d
DB Ten 1H¥% SSrpraed) adjodkhd dTiden odHerosr Sor @l bk
AT Bome). % AT (208 SPOSY % dr(@en SoddrEiod) (1) Mok (4) SS5%
28 wond aarand JoDE TBohob.

(a) 15415 J3rerdo B0 % HSSS0 I SPS R SogRHhond b 2o (1) ™
$aBododh.

(b) 104315 DSFrEEd0 adjoch B D550 I Seedah SHorgRSond D maraw (2)
m $HB8odobk.

(©) D435 JHdreprdo adjockhdh Diddaren LI £0D Hogadhon e@ohd O
2,563 Soror Hursno TETFS aavew (3) T Hiodod.

(d) D935 Hdrordo aBdiodh Dddaren LI 0D Erar SugRo 5F eddd
S8 030 ®@IH8000dB D =aren @) - H8obod .

What 1s the selling price of each article?

2805, 5P OREY) Io 00S?

& The cost price of each article 1s Rs.500

280,85, B 595, e G 20 500

II.  The loss on one article 1s equal to the gain on other article

25 $:0D) D $3 50, DO SHD H oeeRS daRdO.
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(i) Data Sufficiency
B&R0E DoRDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as T and II. You must decide whether the data
given m the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B 1 1 50k 20 3850 @S 158 1598 2.8 154, o0 (Bod LI ed Hden o> Bodh
HSBaren SToTen @dsa@Con. Ad LHB0FTR) GHdlrfod), =)o
IDSBTren 1DE 5 JSrprard) adjochd dTiTen eHErodr Sor @d b
AT Bomre). & AT G (808 Irddd % Sr(sren SHABFA0D (1) Do d (4) 5%
28 @oNS Bara ) JoDE Bohobh.

(a) 1H5%2% JSrprdo aBi0HH |DSES0I SPSH JusRHond b maew (1) ™
folodod.

(b) 5% % DSFEESo aBdjodh i Hdddo I Sribah Sorgndond D aaven (2)
m H8odbob.

() D935 JSrprdo adjohd HdSdaren LI 0D dugddon e@oihd O
2.5 63 e Horg00 TEFS aarew (3) m HBododk.

(d) (D915 JSrprdo adjohd (Hsdaren LI 0D Srmr STgno o¥ e@ddd
S8 030 @dH8S00d D 2o (4) e $8obod .

What 1s the shortest distance between villages X and Y?

X dvocin Y pravdve dogie 503 Groo 0oe?

(4 Village X is to the north of Village Z at a distance of 35 km

7 mpHEnns &S0 85 35 8.5, arvod® X rmpEno $08.

II. Village Y 1s at a distance of 20km from Z
Z ®ob 20 8.50. crood® Y meavo &o8.
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(i)

Data Sufficiency
B@R0E DoPDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(by  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1505 20 S8%0 QDS 1D (5450 2.8 59y, ©°d (Bod LI e0d hdrexn He> Bodh

HDSBaren SBoaen adsa@ron. At SBoT) GHBrRoD), @S
Dd3Baren (H4)%5 HSrrad) ad)oHhd dusTen eHErodr Sor @d b
AT Bomre). & AT (Bod Irddd,E Sr(aren &HAPA0D (1) Mod (4) 8%
DB @ond 2arand JoDE Tohob.

(a) 1H¥3%0 HAPFEH0 2T 0hH B0 (HSBH0 I SPSm HosRRond b 2avw (1) ™
Mlodod.

(b) 12435 JHdrprdo aB@johdd D50 I Sredsh HogRdond D =aew (2)
m $8ododb.

(€) H¥1% JSrprdo adyjodhH Didaren LI £ Susgddon @odHds O
2.%,83 oo Horsdo sEFB aarew (3) T hBobod.

(d) (H¥1% JSrrdo adyodhd (Didaren LI 0D Srar Hursdo 5o eddd)
SB0I0 @IHESHond M aaren @) m Hlododh .

How 1s Y related to X?

X8 Y o dpom w0605

I,

Y is the spouse of a parent of X

X £O&o|cherds’ 2,588 Y arXars

X 1s the brother of Y's daughter

Y G, 5o6ed 8 Ssptm X
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(i) Data Sufficiency
0¥ HowDS

Note: In questions numbered 1 to 20. a question is followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement IT alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

Hrd5: 1 Dod 20 385 adyd 198 1595 .8 (D), od (208 LI ed Hden o Bodh
[Rddaren dBoTen @I aTron. @RS SBoFTR) Soddrfiod), @Dy
DA Baren (D)% SSrprad) aBdjohd dusTen elHwolr Sor @l b
DT 8o, & AT (Bod SrBAEE dr(@ren SHAPA0D (1) Hodh (4) SE5%
D0 @ond 2arand doDE Tobob.

(a) 154)% HArgrdo ad10h B DSES0ISPSHD Sosahond D aaaw (1) ™
MlodSobh.

(b) 15¥35 DSrEESo 2105 (D0 I Sredh HorgRdond D marew (2)
T hBobod.

() D935 Jdrprdo adjoHms |HSdaren LI (0D dusdbhonw @oHd O
2.45.63 Sormr ST o TEPS o (3) T HBodod.

(d) (H¥350 H3rprdo adjodkhs (Hddaren LI $0d Srar ST sRo oF e@ddd
S8 050 @SHEHonB b zaren (@) m HBotob .

X and Y are in partnership business for one year. At the end of the vear. a

profit of Rs.90.000 was earned. What 1s Y's share in the profit?

N oy Y &8 50586 2erdi &5 eRpmaRiy0 &2 b, DoHs ceosHnd et

G.90,000 €250 DoaRDORT. RS5OSR Y bR H0s?

1. Y invested Rs.1.40.000
Y épd 62.1,40,000

II. X withdraw his capital after 9 months

9 Joeo Stoans Y SH b&qgaﬁm S5 &Knﬁamat&).
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(i) Data Sufficiency
B&0¥ oS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B85 1 1 06 20 585 2D 35 158 (58S 2.8 154, o) (Bod LI ed Hhden Jo Boh
Rddaren SBoTen @OsHTON. WIS SToFR)) SHaddrAod), @)y
DS Smren 1HE) 5 HSrprard) adjothd dusgen olHercdr BSor @d b
DT Bomre). % AT (B0 Sr0&8 % Sr(Bren SH3@AoD (1) Dod (4) S8%
0 @ond aarenc dohl Tobod.

(a) 1H%2% JSrerdo 2B 0% (BSGI0 I SPS T SosRdbond D moren (1) ™
ook,

(b) 15335 HIFES0 *TH0HH (HIBI0 II Srdsh Soshond D a=aew (2)
™ hBodob.

() 15335 JHIrrdo adyjodhH Bddoren LI 0D dvgdbon @odhs D
2,583 o Hurs0o sEFS saaw (3) T HBolobk.

(d) 1H93% JHSrprdo aByjodhH Dddaren LI DD Srar HosRo ¥ @ddd
KB 050 @dndSond D zaan (4) e $80%0b .

What 1s the relative speed of the boy swimming against the current?

DTRTDS DB BB 220D DG IO DOS?

I Speed of the boy 1n still waters 1s 5 kimph
ROBEM &b, HES® rend Jrio ot 5 8.8

II.  Speed of the current in 2 kmph
Dande Srio tot® 2 &.80.
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Question Number : 21 Question Id : 6672694383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1)  Problem Solving
Do NGO

(a) Sequence and Series

ofSHmen, Fraen

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AmSH:  Dden 21 Hod 30 5D fe HB HEHR KYDH DoWsew MR BFTeED PO BE
Eoagaod DoErR), hSnT,on. 38 HESPD LB YD e DY Hod

00 van®d 2Rz HH),530 OtSH DoLBERDS Horio SeniiEroRe JPROoRD,

ALCE FH) : L. NP

(1) QSU
(2) QTV
(3) RUW
(4) RVX

Options:

1.v1

2 ® 2

3 ¥ 3

4 % 4



Question Number : 22 Question Id : 6672694384 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
(1)  Problem Solving
Dok REH

(a) Sequence and Series

OfSHmPen, Jravew

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

DSh:  DAen 21 Hod 30 HOKH o HB HESHR HYH Howsew O OFTeD TR 25
EoagRod HoLBRR), HBRT,o0. D8 LS 2rED FYH mey Do Hod

00 ©an®d 2aRii) 2,530 OtSH DLERDS Forio eniiERoRe JRoo-RD.

Telangana : Hyderabad : : JThakhand :

Soorre : 3rdorerdd : : Sardodk

(1) Patna
ey

(2) Hazaribagh
SrerBarh

(3) Ranchi
orot)

(4) Lucknow
&%y

Options:
1. % 1
o %D
3. v 3
4 # 4
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(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

: CXDW : : EVFU : GTHS

(1) AYBZ
(2) BZAY
(3) AZBY
(4) BYZA

Options:
1. % 1
o %D
3. ¥ 3
4 % 4
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(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

A9L-BTY : - D3W

() L5
2y X5C
3) E1X
4) C4X

Options:
1.9 1

> w2
3 ® 3
4. # 4
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(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

P U
(1) 10
(H 2
11

(3) 55
(4) 17

Options:

1. %1

2. 2

3 ¥ 3

4 % 4
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(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

:L3M4: : P5Q6 : R7S8

(1) JIK2
2) K2J1
(3) J2K3
(4) K3J1

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 27 Question Id : 6672694389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod
200 ©awd 2aeeniid HH,520 oS DoHHERDS Zorio SenritrRote HPROowD.

GAK : TAll: : PAT :

(1) 15Al19
(2) 16A20
(3) 17A21
(4) 18A22

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 28 Question Id : 6672694390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

LAKE : : : MILK : HDGF

(1) HWGA
(2) HVFB
(3) GUEY
(4) GVFZ

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 29 Question Id : 6672694391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

AROUND : : : POLITY : SROLWB
(1) DURXQG

(27 ‘BVEYEH

(3) EURXQG

(4) EWTZRI

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 30 Question Id : 6672694392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

20736: 144 : . : 288

(1) 82944

(2) 74886

(3) 72992

(4) 69886

Options:

1.v1

o ® 2

3 % 3

4 % 4
Sub-Section Number: 3
Sub-Section | d: 667269442
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6672694393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: In questions numbered 31 to 35 pick the odd thing out:

BE00E: 31 od 35 H6D o DEOS? HOTILDD HROTHEW.

(1) x2—-4x+4=0
(2} e F9=1
3) x*+8x+le=0
(4 x%+10x+18=0

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 32 Question Id : 6672694394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

BE0DE: 31 od 35 H6D o DEeS? HoTIDD HROHEW.

: -
(1) [2 4 b]

i A
2 3 4

(2) 0 1 6
4 6 8.

I XE Al

(3) 1 S
049 0

| N

(4) T K B
I :

Options:

1. %1



o ® oo
3 %3
4 ¥ 4

Question Number : 33 Question Id : 6672694395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Note: In questions numbered 31 to 35 pick the odd thing out:

pERE: 31 ®od 35 H6H Ko B S HOFIODD HYOTHD.

(1)  Fish D
(2)  Frog £2)
(3) Crocodile 3»0d
(4) Tortoise = en

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 34 Question Id : 6672694396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

BERE: 31 Wod 35 H6H fTo PEES® YOO HYowE.

(1) EVHS
(2) DWFU
(3) HSKP
(4) KQNN

Options:

1. %1

2 2

3 ¥ 3

4. v 4



Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 35 Question Id : 6672694397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

BE00E: 31 od 35 H6D o DEOS? HOTILDD HROTHEW.

(1) Range s

(2) Median BogisrIsH

(3) Standard Deviation 550 DD

(4) Coefficient DS Heedo

Options:

1. %1

2 2

3 %3

4 % 4
Sub-Section Number: 4
Sub-Section I d: 667269443
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6672694398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

32
25
(1) =
("?) E
= 8
(3) 6
y S
(4) Zi

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

22

33

4. 4

Question Number : 37 Question Id : 6672694399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

(6,.8,7), (10,12, 11), (14, 16, 15), , (22, 24, 23)

(1) (18.20,19)
(2) (17.19,18)
(3) (16.18.17)
(4) (15.17.19)

Options:
1.1
o %o
3 %3
4 % 4

Question Number : 38 Question Id : 6672694400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

99° a8 28" 3>
9 3
1
(1) 35;
1
(2) 36;
(3) 40
(4) 41
Options:
1. %1
o & o
3 ¥ 3
4 % 4

Question Number : 39 Question Id : 6672694401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

256. 4, 196, 16, 144, 36, 100, 64,

(1) 06
(2) 72
(3) 64
(4) 32

Options:

1. %1

2 ® 2

3.¢3
4 % 4

Question Number : 40 Question Id : 6672694402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

1 & 3 § 5 5
—e= ey Y=l B B T
6 3 3 6 6 !
1) 8
1
5
(2) 105
(3) 11
1
4 10
Options:
1. %1
o %o
3 ® 3
4 ¥ 4

Question Number : 41 Question Id : 6672694403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

3. 43, 35,63, 9%, 145,

(1) 164
() 178
(3) 192
4) 195

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 42 Question Id : 6672694404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill in the blanks with suitable answers.

rEDs: 36 fod 45 D rio DD 28 DYSTH HoDERK), Adnar,on. & HCHER),

500 HOCHD DiREEeS? grBei PO

2, .10, 30, 68, 130 222

(1) 350
(2) 343
(3) 303

(4) 290



Options:

1.v1
o %D
3 %3
4 % 4

Question Number : 43 Question Id : 6672694405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill in the blanks with suitable answers.

EoDs: 36 fob 45 HOH rie DYeD 28 YSDD DR, Sdm,on. 8 DaLER),

rs00Y dochrd Hirprare S grdoi HRooos.

24, 35, 48; 63, 80, 99,

(1)
(2)
(3)
(4)

Options:

1. %1
o %o
3 ¥ 3
4 % 4

118. 136. 164
126. 144, 169
120. 143, 168
124, 148, 196

Question Number : 44 Question Id : 6672694406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

(11, Z, 13); (15,X,17); (19,V,21); (23, T.25): (27, R, 29):

(1) (28.Q.30)
2) (31.P,33)
(3) (28.8S.30)
4 (31.8.33)

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 45 Question Id : 6672694407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EDs: 36 fob 45 OB rie A0 28 PYSD DHERK, im0, 8 DcLER),

rs00Y dochrd Hirprare S grdoi HRooos.

DLO. GHJM. EFHK. CDFI. ABDG.

(1) ZXCT
(2) YZBE
(3) XADK
(4) WBEL

Options:



1. %1
2.9 2
3. %3
4. % 4

Sub-Section Number:

Sub-Section 1d:

Question Shuffling Allowed :

5
667269444
Yes

Question Id : 6672694408 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (46 to 48)

(b) Data Analysis
S0 DFae

Note: The results of a study conducted on the Academic background of
students (in thousands) who took admission mto MBA/MCA in the
Six Years 2013 to 2018 in a Umiversity is given in the following

table. Based on this data. answer the questions 46. 47 and 48.

2013-2018 058,550 Hgsio St HODES TS 28 DYDWLDO

MBA/MCA & $3#o ayeotit Harstyen (o H0o8y6?) HmRBDHoDS a0
D 206 OG;cHH0SD HOSeD B3 DD HHSS RBHLT0D. B HHRDC0

SERGOM 46,47,48 D405 2avzwein eabob.

Year/Faculty Arts Commerce Science Engineering | Others

HoBs,Po/ peeran | ofogecsn | seb, DeedEn pE, pgedEn | mozdeoolagedan | ReSGHven
2013 4 8 16 3 8
2014 8 12 20 10 5
2015 8 12 25 10 1
2016 10 10 15 10 5
2017 10 15 14 51 6
2018 9 7 10 10 8

Sub questions

Question Number : 46 Question Id : 6672694409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0




What 1s the percentage of the science students who took admission into

these programmes in all the years put together?

OR), DoBS TS 50D, & FIPE, & HIFdo Fe0dH TS LS, PIWE TS0 H0S?

(1) 25

2) 30

: 1

3) 33
1

4) 422

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.

Options:

1.1

2 2z
2.3
4. 4

Question Number : 47 Question Id : 6672694410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the approximate percentage of students from Arts who took
admission mto the programme in the year 2016 when compared to all the

Arts students admitted in all the years put together?

of), Hodd s DD &3 TIPS HIdo Jeodd 6f, DBl 2016 HoHe B

& Hddo 000H Sf, DO TS0 ($ZPOVOR) D0S?

(1) 19.1
(2) 19.8
(3) 204
(4) 211

Options:

1. % 1

2 ® 2

93



4 # 4

Question Number : 48 Question Id : 6672694411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What 1s the average number of commerce students per year who took

admission into this programme?

3 PSP HIF o 808, 0B, DIRL HOBE,DS Bk HoRy 207

(1) 1

=t
|l Wl W] =

4) 11

w |

Options:
1. % 1
o vz
3 %3
4 % 4

Sub-Section Number : 6
Sub-Section Id: 667269445
Question Shuffling Allowed : Yes

Question Id : 6672694412 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)



Note: The following Pie Charts show the revenue and expenditure of a
public sector undertaking under 5 major heads of account. Based

on this data. answer questions 49 to 53.

2 DOVSH BYH D-Heren, 2 HIETON VO AV, SO HOCD FoLEwen 5 b Hrge S0
6, SR)Seon. S HARLRO0 PRGN 49 Kok 53 HOH e D405 HHREHO Techob.

Revenue sweoio (or2a8) Expenditure s, (Fobo)

Sub questions

Question Number : 49 Question Id : 6672694413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the Pie chart for the Revenue. what i1s the difference between the

sectorial angle of odd and even heads of accounts?

STRahBN 30D B - Hodh, Ho Hoaky T e 8ot o DL Srwe Mg b,
50 208?

(1) 242°
(2) 252°
(3) 232°

4) 212°



Options:

1. %1

2 2

3 %3

4 % 4

Question Number : 50 Question Id : 6672694414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If the total expenditure 1s Rs.5000 crores. what is the difference between
the expenditure (in Rs. crores) under heads D and E put together and that

of the rest the heads together?

Swgo Hoho tr.en 5000 83y vand, D Meocin E dipe 8ot odly iairs,
HOH ©f), Hipe 806 DD Oy HairdS Hog Doo (83 trapaves?)

(1) 2500
(2) 2200
(3) 2000
(4) 1850

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 51 Question Id : 6672694415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If the Revenue under head IT 1s Rs.25 crores. then the total revenue under

the heads of I and IV together ? (in crores of Rs)
D6 11 806 sweaio 6r.25 83ty ®and, 1 Hociv IV Hepe Soows o6 Sngo

SwRao (53¢ traronee?)

(1) 245
(2) 235
(3) 215
4) 225

Options:
1. % 1
o %D
3 %z
4. 9 4

Question Number : 52 Question Id : 6672694416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In a particular year the expenditure under the head E 1s Rs.1240 Crores.

Then in the same vear. the difference in the expenditure under the heads

B and D (in Rs. crores) 1is

2.8 5038806 KD E (808 &drren 1240 b p&h) Fahdo 28R08. eoF
5038 3806° Hhen B 58050 D o 2 FRS péyen B&o (8r men Seres® ).

(1) 140
(2) 170
(3] 130
(4) 120
Options:
1.¥1
2 % 2
3 ¥ 3

4 % 4



Question Number : 53 Question Id : 6672694417 Question Type: MCQ Option Shuffling : No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 1s the percentage of the expenditure under the head A. when

compared to the expenditure on the rest of the heads?

HDH Of), Hrve S0t O Hobosd DPHa D A 806 Oy FHoho TS0 DOS?

(1)

2)
(3)

(4)

Options:

1. %1
2 %
3. v 3
4 % 4

10
11

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

7
667269446
Yes

:Yes

Question Id : 6672694418 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)



In the following venn diagram square represents Females. triangle represents
corporate managers, circle represents IITians and rectangle represents MBAs
(B0& B8 DSB0S* SSd|00 e, (B30 T IBES 5285 doesirdoer,

390 (IIT) 2 2 ¢3 oSS, 208050 B 58|50 MBA @5 tira)od.

N
O

,;/’ff ? 23 \:?Fx\\

30 5
3

LA
-
L

40

Sub questions

Question Number : 54 Question Id : 6672694419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What 1s the number of female corporate managers who did MBA?

MBA J0%6 03rer Q5208065 SecihtRcaRen 08 SH00?

(1) 5
(2) 23
(3) 20
(4) 15

Options:

1. %1

2.2

3. % 3

4 # 4

Question Number : 55 Question Id : 6672694420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



How many male IITians are there?

poox IIT apo 208 500D GaRW?

(1) 80
(2) 60
(3)

4)

Options:
1. %1
2 ® 2
3.9 3
4 % 4

—]
LN

fad
L

Sub-Section Number: 8
Sub-Section 1d: 667269447
Question Shuffling Allowed : Yes

Question Id : 6672694421 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)



(c) Coding and Decoding Problems
E80oh A5B0R Hdgen

Note: The English Alphabet, a code is designed by the following rules:

E The vowels are rotated cyclically by moving each vowel to its right by

one place.

2, Each consonant from B to M 1s moved to the right by one place
cyclically.

3. Each consonant from N to Z is moved to left by one place cyclically.

4. The reverse process 1s followed for decoding.

Based on this code pattern answer questions from 36 to 60.

eof] ogsdrativod, B 800 Dabireh S8 28 $58 crdrodIdod.

1. @) eived HA oA, ood o BYSH de 2.8 Frdod o (Echomr Snodh B

aSHaBIE

2. BHodM 38% fe 156 Fren, ood Hoch 3H 5% He .X rdo % o (Bchomr
SnocHE sdhonB0E

3. NSoAZIB% e (D28 Fren K, od D B S der .8 D dok o (Bchorr
Sendd sdhd0608.

4. 558008 AD IS H HA8 @ler0DodB

& EA0hf HPa agrborr 56 ok 60 SE% fo (D10 aawwe Adsod

Sub questions

Question Number : 56 Question Id : 6672694422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



What is the code for “‘YADADRI? d&°%
‘YADADRI' & 856 s0?

(1) XEFEFQO
(2) ZEEFFPU
(3) XEFGFRI

(4) ZFFHEFSA
Options:
1.¥1
o ® D
3 %3
4 % 4

Question Number : 57 Question Id : 6672694423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What 1s the code for ‘EMAIL™?
‘EMAIL’ & 856 507

(1) EBIOA
(2) IBEOM
(3) IABEK
(4) EABIL

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 58 Question Id : 6672694424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What 1s the code for the word ‘BUCKET?

‘BUCKET o3 5tr08 $58 507
(1) AABIIS

(2) CADLIS

(3) CABLIU

(4) DABTOU

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 59 Question Id : 6672694425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which word 1s coded as ‘FUBEQZ’?

‘FUBEOZ’ % 5ted), e 588 Jaecw?

(1) REMAIN
(2) STRAIN
(3) COMEDY
(4) DOMAIN

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 60 Question Id : 6672694426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which one of the following 1s coded as "NUMODX"™?
83 300 300&° 90 ‘NUMODX e 85§ Jchadod?

(1) POLITY
(2) POLICY
(3) POLICE
(4) MALICE

Options:
1. % 1
oD
3 %z
4 % 4

Sub-Section Number: 9
Sub-Section Id: 667269448
Question Shuffling Allowed : Yes

Question Id : 6672694427 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (61to 65)
Note: A word or a group of letters to be coded or decoded based on the
certain codes. Using the information. answer the questions 61 to 63.

rioE: 205 Hoderey earpdore €A Bor AFS Sobaf o8 Do For & orey ST,
& pdrorod, Sudrfod 61 dod 65 1% RATTO0 Fdiod

Sub questions

Question Number : 61 Question Id : 6672694428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In a certain code. if the word CRIME 1s coded as ‘APGKC’. then the
code for *QUICK 1s.

%5 DY 8365 CRIME od aso0 APGKC m 838 seeed, QUICK o dweds S9E.

(1) OTHBJ
(23 PLICK
(3) PRICE

(4) OSGAI



Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 62 Question Id : 6672694429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In a certain code., if ‘BEAT’ i1s coded as “ADZS" then the code for
‘SONAR 15
aﬁmggﬁﬁﬁéﬁ ‘BEAT ® ADZS m 8§ I3, oyt ‘SONAR' 8 858

(1) RLMYP
(2) RNMZQ
(3) TPOBS
(4) TOBPS

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 63 Question Id : 6672694430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If ‘“CARTOON’ 1s coded as ‘NOOTRAC" then which of the following 1s
coded as ‘DETIMIL."?

CARTOON® NOOTRAC m 838 38 &3 800 and&® 0 DETIMIL

m 558 Jahadon?

(1) TENDERS
(2) LISTENS
(3) TENDRIL
(4) LIMITED



Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 64 Question Id : 6672694431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If ‘CUPBOARD’ 1s coded as ‘UCBPAODR’ then the code for
‘ELEVATER’ 1s

CUPBOARD®» UCBPAODR m 8&dd, @t ELEVATER & 8%

(1) LAVERATE
(2) LEVETARE
(3) LAVETEAR
(4) LEAVETRA

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 65 Question Id : 6672694432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
If “WATER’ 1s coded as “XAUES" then the code for ‘MOBILE" is
WATER ® XAUES e 83630 et MOBILE 8 8%

(1) LOAIKE
(2) NOCIME
(3) NPCINF
(4) LPCINE
Options:
1. %1

> Wz



3 ¥ 3
4 % 4

Sub-Section Number: 10
Sub-Section 1d: 667269449
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6672694433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(d) Date, Time & Arrangement Problems
88, HHoHo, ebBEer DHHsen
If today i1s Sunday then what day it was in the weak 124 days ago?

&3 B2 sDaRto ©ond, KK 124 6izre Sout Bz a6o&® © Bz ehdos ?

(1) Monday Ddoaeto
2) Tuesday vorsganto

(3) Thursday GRG0

(4) Friday HEFRGO

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 67 Question Id : 6672694434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

At 5:15 p.m the angle between the hours hand and the nmunute’s hand of

wall clock (in degrees) 1s

A 5115 $g 6% 5B aircosRR tobediney HHocin DiwapeBEee g o SBno

(&)

1

50

(1) _.}2

1

3 iy

(23 642

-1

(j) 6.'2

_ -~1

(4) 12
Options:
1. %1
2 ® D
3. ¢ 3
4 # 4

Question Number : 68 Question Id : 6672694435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

A Clock gains 10 minutes in 24 hours. If the clock is set at the right time
at 8:00 a.m on Sunday. the actual time when the clock shows 1:00 p.m on

Monday?

28 BGAERC0 24 fobed? 10 Divapen OGHOM eotdeod. Asdvanso 8:00 a.m 5g

& BB cIRGoH HOGLD HIEROS Ho-TR), Fsarto 8 sdairso 1:00 p.m

WBRLOVHN, Oden daEvabo.

() 1:05 pm
(2) 12:50 p.m
(3) 12:45 pm
(4) 1248 p.m

Options:

1. %1

o 8o

3 % 3
4 ¥ 4

Question Number : 69 Question Id : 6672694436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

In a fanuly B 1s the father of A4: C is the wife of B: D 1s the mother of C

and E 1s the husband of D. Then A is related to E as:

25 B002085 4 Bws,Sod B. B @Bws,2ets €. (g, 89 D o

D w5, 256 E o5 £ 8 A 8% 6o pomsso.

(1) Father Sod
(2) Mother &0
(3) Son B

(4) Grandson Sor0EE

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 70 Question Id : 6672694437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

A fanuly has a man. his wife. their four sons and their wives. The first
son has three sons and one daughter. the second son has two sons and
three daughters. the third and fourth sons have three daughters each. The

total number of female members in the whole family is.

wmﬂwmm,m@%.mgmmm&mmﬁe
2RGD SR, PO A6 HBERWOS HIPB HERTLD HDHOCED 28 HERT, Botsd B
M@mﬁmmmmmgmmmmmmaw

282.5,08 Hoorptd LisRden e, 8 Linono Vo8BS o Bndo B Haixw Howy.

() 12
(2) 15
3) 11
@ 9

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 71 Question Id : 6672694438 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

A superfast express travelling at 100 kmph takes 2 hours more than
another train travelling at 120 kmph to cover the distance between the
same two stations (in kms). Then the distance between the stations (in
kms) is.

so&% 100 8.8. Fso8b 3T, 28 D6 Y 52O, ot 120 8.5 Jrosh 3T, 268D
en 208 508, 68 Bok P g, BrRoel), HodREo VOVEOS 2 Foben BPSom

&:08%08008. © Both PR g Hv Brvo (8.80.059)

1200
800
( 1000
(4) 600

—_—
L% ] (] —
- - e

Options:
1.¥1

o B oo
3 ® 3
4 % 4

Question Number : 72 Question Id : 6672694439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(d) Date, Time & Arrangement Problems

88, H%dho, @Hdte Hldsen
A. B. C. D. E. F and G are sitting around a circular table and facing the
centre: G 1s second to the left of C. C 1s to the immediate left of F. A 1s
third to the left of E. B 1s between D and E. Which of the following is
true?

A.B.C.D.E. F. G e 25 0050 og whtap med So5inHH 0nsnmorn SrH0 &an,w.
C & o5 Py Botsdantd G. F & 3k 3ok 258 ey &6, C. E 8 otsd J5p doretssd

o A D @vecin E o g B emi. 83 800 DS 5 H&mn?

(1)  C 1s fourth to the left of B
B 8 ot5a085 meenfMati C

(2) A 1s the immediate right of C

C 353306 Dodobd A emn i

(3) D i1s second to the left of E

E 8 otss 3 Botss ot D

(4) B 1s second to the right of G
G 8 %A Boksd aniso B

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2 2

z 3

4. 4

Question Number : 73 Question Id : 6672694440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If * is defined by a*b=a’ +b> —3ab fora, be R,

(1#2)+(1%2) _
(1+1)=(1+1)

then

a, be R 8, a*b=a3+b3—3nbm%ﬂ§.

(1%2)*(1%2) -
(1=1)*(1=1)
27
(1) s
16
(2) =
27
(3 —=%
16
) —5
Options:
1. %1
2 ® 2
3.¢3
4 % 4

Question Number : 74 Question Id : 6672694441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If x4 y=(x+1)+(x—y)and x T y=(x+ 1)’ — (x — y)’ then the value

oipTin
aTadaT?

xi«j-‘:(x+h1-'}+(r—.1')2 V2 Yen b ,TTL1‘=(.1‘+_‘1'}3—(T—‘T)3 ©on3,

oypTiy
ATHeT2)
8
(1) =
15
2) —
_ 14
(3) —
x 13
(4) T
Options:
1.1
> %2
3 %3
4. # 4

Question Number : 75 Question Id : 6672694442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

2 2>

. sk 3 - a —+
For ab#0. if # 1s defined by a*b=———+— then
ab
(1*2)*(2+1)
(1*3)4(3*1)
7 3
a-+b-
ab#08#0 a™*bh=——— ™ DGO, O
ab
(1#2)*(2+1)
(1+3)4(3*1)
4
1 =
(1) -
5
(2) T
10
5
3 ==
3) A
20
4 —
) -
Options:
1. %1
2 ¥z
3 %3
4 # 4
Mathematical Ability
Section Id : 66726965
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 75
Number of Questionsto be attempted: 75
Section Marks: 75
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1



Sub-Section 1d: 667269450
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 6672694443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1)  Arnithmetical Ability

©05 RS ardnd e

If a=2%, b=4, c=Fand a” -5*-c¥ =4°, then xyz=

a=2".b=4.c=% soaw a” b -¢? =4° oawd vz =

(1 3
2 1
(3) 4
(4)

Options:
1. %1
o %D
3. %3
4. 9 4

-

Question Number : 77 Question Id : 6672694444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability

©08 5Hd 0 s

oV = (:r\/;)ﬁx —x=

(1) 63
(2) 64
(3) 81
(4) 84

Options:

1. %1

2 % 2

2 93



4 # 4

Question Number : 78 Question Id : 6672694445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1) Arithmetical Ability

©08 1Ed b s

A+B+C=427. 34=4B=7C = A=
(1) 147
2) 196
(3) 84
(4) 61

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 79 Question Id : 6672694446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability
©08 s 0 d 58

There are 50 paise and 25 paise coins in a bag whose value 1s Rs.45. If

the total number of coins 1s 100, then the number of 50 paise coins 1s

25 DoV Gren 45 Dend Do 50 DO 25 Dde TeeFevTR,W. BNS0 EFen Hows 100

©ond HBSP 50 D PO Do
(1) 40
(2) 60
(3) 80

(4) 85



Options:
1.%1
e %2
3.9 3
4 % 4

Question Number : 80 Question Id : 6672694447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
(1)  Arithmetical Ability
0085 fiid e geb
2 ) 1 N
1042421 1242435 8+2415

(1)
(2)
(3)
(4)

% %

Options:
1.%1
> w2
3. %3
4. ¥ 4

Question Number : 81 Question Id : 6672694448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

22447 1

X — e

2247 x
(1) V14

2) 2+v14
(3) 14

(4) 8v14

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 82 Question Id : 6672694449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1)  Arnithmetical Ability

©05 RS ardnd e

What is the remainder when 2* is divided by 5 2
2P 80 5 I 2eBh 53 Fgos?

(1) 1
(2)
3) 3
(4) 4

Options:
1. % 1
o D
3 %3
4 # 4

|

Question Number : 83 Question Id : 6672694450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What 1s the total number of positive divisors of 12600 ?

12600 3wdo & 2w doms 2087

(1) 70
2) 72
(3) 74
(4) 76

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 84 Question Id : 6672694451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability
©08 s s

The G.C.D of two numbers 1s 42 and their L.C.M 1s 1260. If one of the
number 1s 210. the other number 1s

Both Hogye B.ak.» 42 ol 5.3 1260. HES? 25 Howg 210 ©anS Botss Doy,

(1) 245

(3) 252

(4) 258

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 85 Question Id : 6672694452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability
©08 5Hd 0 s

If the G.C.D of 28 and 49 is expressed as 28x + 49y, then a pair (x. v)=

28,49 o i.aR.2e0 28y + 49y m deadd oSwnio (1 1) =

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 86 Question Id : 6672694453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What 1s the value of the rational number which is the sum of the recurring
decimals : 0.6+0.7+0.8 ?

0.6+0.7+0.8 60 Barome Swdorm Hib, O56HED Soa); Devs ©os?

1

(1) 2

0

1

2 2—

(2) :

1

3 3—

(3) 9

1

4 3—

(4) .
Options:
1. %1
2. &2
3 ¥ 3
4 % 4

Question Number : 87 Question Id : 6672694454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©08 s s

3[24—{25—[1?—4+7}+5}+:]:

(1) 0
(2) 12
(3) 16
(4) 20

Options:

1. %1



o ® oo
3. ¥ 3
4 % 4

Question Number : 88 Question Id : 6672694455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1)  Arnthmetical Ability

©05 R a8 seéb

The ascending order of the followmng numbers 1s

&1 808 Domwse 8BRme Svo

(1) e¢bd.da
2y db.ua
{(3) cdb.a
4y dieba

Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 89 Question Id : 6672694456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Which of the following statements 1s true?

&1 800 HHSeS? HO HeHw?

) 65 > 411 > 546
) 65 > 546 > 41
3) 4«/ﬁ > 6\/3 = SJE
1) 411 > 506 > 65

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 90 Question Id : 6672694457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability
©08 s s

: 1 : . :
Due to reduction of 61% in the price of onion a person was able to buy
1 kg more for Rs. 120. The original price of onion per kg in Rs. 1s
N
6905 66 61 Yo SO0 B 28 8 G120 B 18 1P 0935 SR> SHDmD.

S 1 8. 7. $P0E 66 G o8,

(1) 10
2) 9
(3) 8
(4) 7

Options:



1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 91 Question Id : 6672694458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©08 s 0 d 58

5% of mcome of 4 is equal to 15% income of B and 10% income of B 1s
equal to 20% income of C. If the income of C 1s T 20.000. then the total

income of 4. B and C (1n thousands if Rs.) 1s

Al 0 5% ©TE Bl 15% “», BoeabD 10% o8 C

T80 20% S Hdrvo. C oend o 20,0000008 4. B. €. o 3ngo oead

(Jo trahched?).
1) 60
2) 120
3) 140
4) 180
Options:
1. %1
2 ® 2
3 ¥ 3
4 v 4

Question Number : 92 Question Id : 6672694459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The cost price of 20 books 1s equal to the sale price of 16 books. What 1s
the outcome of the transaction?

20 HDZe0 526, §6 16 DT OIS0 HOD HAPHRS &1 PRLHSD POS0 A?

(1) 15% loss
15% ®go
(2) 25% profit
25% ercio
(3) 15% profit
15% ergio
(4) 25% loss
25% o3
Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 93 Question Id : 6672694460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

An article 1s sold for a profit of 20%. Had 1t been sold for a profit of 25%
it would have fetched T 50 more. The cost price of the article (in T ) 1s

25 B:0) 20% PRRS OE0D. W, 25% TPEROS OMNH0E G50 LT ST,

0 8%, G5O (G ©68)

(1) 750
(2) 800
(3) 900
(4) 1000

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 94 Question Id : 6672694461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A and B entered into a business with capital ¥80.000 and ¥ 1.20.000
respectively. After 4 months each mvested 220.000 more. The difference

in the share of their profits in the vear end profit 1s T 68.000 1s (in Rs) 1s

A. B oo 60t 680,000, G2u1,20,000 Suresmeodd 25 68 argahto

EROOPOTRW, 4 FO STS RZOR DO Br120,000 25,3 DGR,

0B oSSR HYH 568,000 eeZI0S? aRe etmEe FOo (GRuvSR);

(1) 8.000

2) 10.000
3) 12.000
(4) 16.000

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 95 Question Id : 6672694462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

X and Y invested 1n a business with their capitals respectively in the ratio
of 3:2. After deducting 10% of the total profit for taxes if ¥’s share of

profit 1s Rs. 6.480. then the total profit (in thousands of Rs.) 1s

X, Ve S0t 3:2 02,8 & same gaek), DE00EM 28 arapei), Bncen DER.
Swdo eeziod? 10% o H,D Ml DD S WHDH ergios® 1 anén

G 6480 ©owd BwEo erdio (Jo Brached?)

(1) 18
(2) 36
(3) 42
(4) 56

Options:
1.v1

o ® oo
T %3
4 % 4

Question Number : 96 Question Id : 6672694463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Two pipes 4 and B can fill a huge tank in 6 hours and 8 hours

respectively. If both the pipes are opened simultaneously and the B is
turned off after 1% hours then the time required for the tank to be full (in
hours) 1s

A. B pien 28 g SOGR S0 6 ton 8 fon 0P Dodrew). Dok Payen 2300

860 1% fion ST B o 5urddR $9G dodherdy $B Hduabo (ton o)

(1) 6
R
- fil
(2) 58
(3) 3
7
4) 4
Options:
1. %1
> Ko
3 %3
4 ¥ 4

Question Number : 97 Question Id : 6672694464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

If a pump takes 6 hours to fill % th of a huge tank then total time required
to completely fill the tank in hours 1s

25 Do) 25 DY G %amm&m 6 fiowen 80898 Ango SGOoHomD

THOVD B0 Soneé?;
(1) 12
(2) 13
(3) 14
(4) 1B
Options:
1. %1
o ® D
3¢z
4 % 4

Question Number : 98 Question Id : 6672694465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©08 5Hd 0 s

A person P 1s travelling at 72 kmph while Q is travelling at 25 meters per

second. What 1s the difference in their speeds in meters per second?

P o3 58 totrs 72 8.8v. Frsoshto O vt 25 kg SroShtr Hoirno Jnms.

00 ISR S50 5 HrdrgS® vos?
1

(1) 15

(2) 2

(3) 3

(4) 5



Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 99 Question Id : 6672694466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s
: 1
A person takes 6 hours to reach a place. If he reduces his speed by = then

he travels 10 km less in that time. His speed in kmph 1s

25 %8 28 B0, DOoWD 6 fioden BnSotr. S6 Jme, éé o SQowetioll

Ot 03 oS 10 8.8, SEH Hairno I, OS0 Jko tobd 8.5.088

1) 6
1
. 5=
2) >
3) 5
4) 4=
10
Options:
1. %1
o %D
3.9 3
4 % 4

Question Number : 100 Question Id ;: 6672694467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Of the two workers 4 and B. the worker 4 works twice as fast as B. If B
works alone the work could be completed i 12 days. If both 4 and B

work together the number of days in which the work can be completed is

A. B o agos H0anrgd? B 5ol 4 doth Béy Housom H0Iarth. B 258 20U

e DR 12 Bzreds Py 0Hod. 4. 5 o gor 50D & H00 HPg IR0

S8 Fare Sop g

(1) 4
(2) 5
(3) 5—
(4) 6

Options:

1.v1

2 ® D

3 % 3

4 % 4

Question Number : 101 Question Id : 6672694468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Three workers can individually complete a work in 7. 14 and 28 days
respectively. If all the three work together the number of days needed to

complete the same work 1s

B HOERY, D8 DEM HOUY 28 HOO HWH™ 7, 14, 28 Hrod Hpg Jobrietd.

Bwrptr 50D HOUR OF HOO HPY JvomH DD Bere So .

(1) 4
(2) 5

(3) 5
(4) 6

Options:
1.v1
o %D
3 %3
4 # 4

Question Number : 102 Question 1d : 6672694469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The dimensions of a rectangular filed are 60 meters and 80 meters. Four
cows are tied at the four corners of the field with ropes of lengths 10, 12.
14 and 16 meters respectively. The area of the grass that cows could eat

1 sq meters 1s

aéﬁgdmf@ﬁm?aémﬁﬂhm, 80 fou. Trenid SHer 6 Jreo eepHieed?
10, 12,14, 16 fo&g D63 e g sEdm. 6 aHen 1§adab fe deeo Joee0

5.8, 062
(1) 168m
(2) 172 i
(3) 174 1
(4) 178
Options:
1. %1
2 ® 2
3.¢¥3
4 % 4

Question Number : 103 Question Id ;: 6672694470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The length of a room 1s 5.5 meters and its width 1s 3.75 meters. Find the

cost (in ¥) of paving the floor at the rate of T 800 per square meters.

25 1O e5®) 5.5 fotog) 3sey, 3.75 Hy. 6rd Jor e JootH w.80.% 800
G SPa OCRWE CrueSs,

(1) 15.000
(2) 15.500
(3) 15.600
(4) 16.500

Options:

1. %1

o ® 2

3 %3

4. 9 4

Question Number : 104 Question 1d : 6672694471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1) Arithmetical Ability

©08 1Ed b s

What 1s the volume of a cube (in cu.cm) whose total surface area 1s 384
sq. cms?

2% 000 doYr@de JBe0 384 w5.20.H007and el b HOBHREO (510.20.069)

D0es?

(1) 512
(2) 729
3) 1000

(4) 1331



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 105 Question 1d : 6672694472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s

A cylinder and a cone have the same height and the same radius of the

base. The ratio of the volumes of the cone and cylinder 1s

28 0 28 girarmes SO 28 ARDH0 OF 26 2 ydoRen SOBH 28 SokHodd
$053), Hp0 PHHOERRO DHS

(1) 1:3

(2) 2:3

(3) 34

(4) 4:3

Options:
1.v1
o %D
3 %z
4 % 4

Question Number : 106 Question Id ;: 6672694473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The area of square field is 8450 m?. The time taken by a person to cross

the field diagonally with a speed of 3 kmph. (in minutes) is

28 SHVPT0 F0 352050 8450 &. ©FF0 50 ot ok 3 8.8, Friosd 8

oD TS DHéY DO (DEPESR).
1 11
(1) =
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= 5
(3) 3
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(4) =
Options:
1. %1
2 2
3 ¥ 3
4 % 4

Question Number : 107 Question Id : 6672694474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
(1) Arithmetical Ability
©05 (13d 0 5
The perimeter of a semi-circle 1s 396 cm. Then 1ts diameter (in ¢cm) 1s:

25 E‘)Ea’bvgo D0 396 2.8, O R &0 R.50.06%)

(1) 36
2 72
3y 77
4) 154

Options:



1. %1
o %o
3 %3
4 ¥ 4

Question Number : 108 Question Id : 6672694475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability

©08 s 0 d 58
If the radius of a circle is increased by 10%. then the percent increase in
its area is

28 Hgo ayARs0 10% DoVS, B JEeey0s? BArboe Beo.

(1) 19%
(2) 22%
(3) 20%
(4) 21%

Options:

1. %1

2 ® D

3 % 3

4 ¥ 4

Question Number : 109 Question 1d : 6672694476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

{xei]%| |.1‘—3|~::.2 A |x—1|-:::5}:

1) (4. 6)
2) (L 6)
3) (L 5)
4) (4. 5)
Options:

1. %1
2 ® 2
3.9 3
4 % 4

Question Number : 110 Question Id : 6672694477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1)  Arithmetical Ability

©05 50 o seb
If 993 Er(mod 23) and 0<r =22, then r=

0<r<22 opar, 993=r(mod 23) ochdnm 1=

(1) 3
(2) 4
(3) 13
(4) 14

Options:

1. %1

2.2

3. ¥ 3

4. # 4



Sub-Section Number: 2
Sub-Section 1d: 667269451
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 6672694478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If p and q are statements. then "~ p—= p A ¢" is true whenever

D. (e ddSoes3, '~ p=> P A(Q" dR0Banwod,

(1) qistrue
(g D20 ad

(2) pistrue, g is false
D D20, [ o850 Seand

(3) pistrue
P 020 3ad

(4) pis false. g 1s true
D 00, (D0 oD

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 112 Question Id : 6672694479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B o0k =RBD Mg

For any two statements p, ¢ the statement (p=>q)V (~ ((~ p)e q)) is

false only when
530 Both PHiren, p. (OB (p=>q)V (~ ((~p) f:;-g))

OF HHSH0 ODS0 OTd Fdwo

(1) pi1s false, g 1s false
D 0850, ( 5850 ©onBHE Srgad

(2) pistrue, g is false
D D80, (] ODE0, OoNHRE HRgaD

(3) pistrue, g 1s true
D D650, D50, ©onH)th SR

(4) pis false. g 1s true
D OD&E:0, ( D0 anda)h Sregad
Options:
1. %1
2. ¥2
3. %3
4 % 4

Question Number : 113 Question Id : 6672694480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If A. B. C are subsets of a set Yand 4'=X — A4 then (A 'L_J(Bl M Cl]] =

4.B.Coodwa X esomed A'=X -4 eawd (40(B' nC))=

(1)

(
@ (an(rtoc)
(
(

(4)

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 114 Question Id ;: 6672694481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfah SO0 =ABCH FBgse

A relation R defined on a non-empty set 4 is called anti-symmetric if

285 ERFS0 DB A D DGV0D0ED Howoro R HB F;Yd Howogo o

(1) (x. y)eR (y.x)eR =x=y

(2) (x.y)eR =(y.x)eRr

3) (2. ¥), (».x)eR =>x=y

4) (x.¥)eR (y.2)eR =(x. 2)eR
Options:

1.9 1



o ® oo
3 %3
4 % 4

Question Number : 115 Question 1d : 6672694482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

Bad B0k =RBD Do

If 4 and B are two sets such that n(4)=4 and n(B)=>5. then the

number of non-constant functions from 4 into B 1s

A. Bo3Both dtndben, 1(A)=4. 11(B)=5 oclytnols, 4608 B &ce d

Habairen S0 Habaire Hows

(1) 625
(2) 1024
(3) 1020
(4) 620

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 116 Question Id : 6672694483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

Two lines Ly and L, make intercepts a. —b and b. —a respectively on

the x and y axes. Then angle between Ljand L>1s

dogdwen L1 Lren ¥, 1 DoRdmHen doome . —b Socin b, —a ©oss

ot Jo,p0mod, L1, L) dogsEeao

I"'HE_E}E\

1 Tan™'| ——
(1) an % )

%

o S
(2) Tan ! u

(3} Tan

(4)

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 117 Question Id : 6672694484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

Equation of perpendicular bisector of the line segment joining (]3. —2)
and (-5, 10) is
(13. —2), (-5. 10) oo 8% Sgraots oo HHBOES S HhoSs00

(1) 2x + 31 =20
(2) 2x—3p+4=0
(3) 3x—2y=4

(4) 3x + 2y =20

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 118 Question 1d : 6672694485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

tan 480° =
(1) 3
(2) NE}
1
3 sz B
3) =
(4) 3

Options:
1.v1

o ® oo
3 %3



4 # 4

Question Number : 119 Question 1d : 6672694486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

20 . . Bx
cCos— 4811 —
6 6
(1) 0
(2) |
(3) —1
(4) 2
Options:
1. %1
2 W2
3 % 3
4 # 4

Question Number : 120 Question Id : 6672694487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

Bfad B0k =sBBD Do

6cos@—Tsinf=0 = (7cos26+ 6::~;i11219)2 =

(1) 1
(2) 4
(3) 49
(4) 2

Options:

1. %1

2 ® 2

3.¢3

4 % 4



Question Number : 121 Question Id : 6672694488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability
Bah SO0 =ABCH FBgse
Two boys are on opposite sides of a tower of 80 meters height. They

measures the angles of elevation of the top of tower as 45° and 60°

respectively. The distance between two bovs (in meters) 1s

80 &g elio 258 D0TPDS BWJO® HHDLCIT G 2RI o0 ogio B
208 Stdm 457 Hoain 607 &:5:88no Jxnm,m. © RGD 2eend Dog; GRoo
(Eobops?)

(3) %ﬂ(ﬁ—l)
@) P (3-5)

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 122 Question Id : 6672694489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If 3x% —5x—8 < 0. then x lies in the interval

3x2 - 5x -8 <0 oond Y 591 ©0eS50.

(1)

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 123 Question Id : 6672694490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

— : 3 2 :
The polynomial in x of least degree with the roots 55 + «/E‘T 15

%. % + 3 evsmememse 1 & odod 96, S668 2HO.
(1) (=2 (2x=3) (x%=3)
(2) (3x+2) (2x+3) (x2-3)
(3) (3x—2)(2x+3) (x2-3)
(4) (3r+2) 22~ x2=3)
Options:
1.1
2 ® 2
3 %3
4 % 4

Question Number : 124 Question Id : 6672694491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

o o050 =EBD DG

(x*-3x+2) ‘ (¥ -6x>+ 4 +B) = 42+ B%=

(1) 156
(2) 157
(3) 158
(4) 159
Options:
1. %1
2.2
3. ® 3

4 % 4



Question Number : 125 Question Id : 6672694492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability
Boh SO0 EAECH FBgss
If x—3 divides x* -2 x> +3x? —mx+3, then m =

2
-2 +3x —mx+3, ® x—3 B m =

ki
N

(1)
(2)
(3) 17
(4) 19

—
o

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 126 Question Id : 6672694493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

4 6 5 3
+ =5, — =l STy =

X—3 P4 X3 ¥4

(1) 8

(2) 9

(3) 10

(4) 11

Options:

1. %1

o %D

3 %3



4 ¥ 4

Question Number : 127 Question 1d : 6672694494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability
o 500k =BBD Feddse
If x.y(x<y) are primes satisfying x+ y=30. then the number of

such pairs (x, y) 1s

X, y(x<y) e Both Hued domywan ¥+ 1 =30 edlyénod,
oigod aden (X, y) odomy

(1) 1

(2)
(3)
(4)

Options:
1. %1
2 %
3. v 3
4 % 4

-2

EN 7§

Question Number : 128 Question 1d : 6672694495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If seventh and eleventh terms of an arithmetic progression are 31 and 47

respectively. then fifteenth term 1s

%% 005BGSD DED, HHS0ED Heey HOHMP 31 HBCk 47 VoI, HDIRDHD D0,

(1) 67
(2) 63
(3) 59
(4) 55

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 129 Question Id : 6672694496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

o o0k =RBD Mg

" L. . 3
If 6™ term and 13™ term of a geometric progression are 24 and e

respectively. then the 25 term is

25 MRS SEE DS, 65 S0 13H Heen SHP 24 S8k

3
E sondHyl)d, 253 H60.
3
(1) -
3
(2) "
2
3 3
(3) 424
3
(4) 56
Options:
1. %1
> Ko
3 %3
4 ¥ 4

Question Number : 130 Question Id : 6672694497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

The term independent of x in the expression of

(2x2 + i)s is

g8
(sz - i) DHBRESD ¥ B Do

2

(1) 3% term
35 2do

(2) 70 term
Ta 200

(3) 5% term
53 ddo

(4) 4™ term
435 a0

Options:

1. %1

2 ® 2

3. ¥ 3

4 % 4

Question Number : 131 Question Id : 6672694498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

2n

n b
(1 x4 xz) =dg+ X+ ApX + .y, X

= tazt..tay, 4=

3"-1

(1) :
= 3"+ 1
(2) :
(3) 3
(4) 3" -1

Options:

1.v1

o %D

3 ¥ 3

4 % 4

Question Number : 132 Question Id ;: 6672694499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfoh SO0 =AECH Fdgse

e i1 _y 42019 _
11

(1) 72020 4

) 72019 4

3) 22018 4

(4) 52017 4



Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 133 Question 1d : 6672694500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

If A and B are 3x3 matrices. such that the sum of elements along
principal diagonal of 4 i1s 3 and the sum of elements along principal
diagonal of B is 4. then the sum of principal diagonal elements of

34+ 3B =

A. Bew 3 x 35»85w, 4 Gws; oo 95 daresee 3ndo 3. B Gws, dueb
D55 Sresee Ango 4003, 34 + 5B S0 Jued pEgEarome 3ngo =

(1) 7

(2) 11
(3) 29
(4) 25

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 134 Question Id : 6672694501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

. l—cosx
m —— =
x—0 X

(1) 1
(2)
(3)
(4)

L TR - N

Options:
1. %1
2 VD
3 % 3
4 # 4

Question Number : 135 Question Id : 6672694502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(11)  Algebraic and Geometrical Ability
Bad B0k =BBD DG

Iim g J_
x—l+ \/_ 1

(1) |
(2) 2
(3) 3
(4) 4

Options:

1. %1

o ® 2

3¢z

4 % 4



Question Number : 136 Question Id : 6672694503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

The angles of a triangle are 30°. 60° and 90°. Then the sides of the
triangle are in the ratio

25 82020 Sheen 30°, 607 . 90° oH ©#LH20S% e DNS.

(1) 1:v/3:3
(2) 1:4/2:2
(3) 1:3:2

(4) 1:43:2
Options:

1. %1

o ® oo

3 ¥ 3
4. v 4

Question Number : 137 Question Id : 6672694504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

The area of a rhombus is 24 sq. cm and one of its diagonals 1s 8 cm. Then
the length of the other diagonal (in cm) 1s

28 0 S0 Beeeso 24 5.5, DO T DEEeS 258 8 R.5. O 5

D50 a5 (. 850.0689)
{1} 6
(2) 3
(3) 3

L

(4)



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 138 Question 1d : 6672694505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

If two circles have radi 16 cm and 7 cm and the distance between their
centers 1s 4 cm. then the number of common tangents. that can be drawn
to the two circles is

Both e dghmeen 16 R.80., 7 2.8 Hocin 58 Sogre DEERG0 4 2.0, oond,

& Both Heed Aabie &id S0 Sows
(1) 0
(2) 1
(3)
(4) 4

Options:
1.91
o %2
3 %3
4 % 4

[ B

Question Number : 139 Question Id : 6672694506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
B ook =sRBD Doy
If G 1s the centroid of the triangle A4BC with vertices A(—E. 3).

B(—7.5) and C(3. —5) then the area of A GAB (in sq. units) is

rﬁcq:m ‘4(—2. 3]. B(—T. 5), C[E. —5] m e @zbzo A4BC Bws, Someerdo
Gooand, A GAB 3mexo (&.chm.0f0)

(1)
(2)
(3)
(4) 15

8
)

fh

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 140 Question Id : 6672694507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
o ook =RBD Doy
If (2, —3). (3. 7) and (—4. 6) are the mid points of the sides BC. CA4

and AB respectively of the A ABC. then A =

A ABC &% zomeen BC. CA. AB o gy 2ocoen Sowme (2, —3). (3. 7),

(—4l 6) oowd, 4=

(1) (2, —2)

(2) =4

(3) (=3. 16)

(4) (1,10)

Options:

1. %1

2 ® 3

3. v 3

4 # 4
Sub-Section Number: 3
Sub-Section 1d: 667269452
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 6672694508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
ﬁhﬂﬁﬁﬁﬂﬁgﬁhﬁbggg

The mean of the squares of the first # natural numbers 15

amdéi}rﬁﬁﬁﬂﬂknggJéqyaﬁﬁﬁn
(1) %(2;;.2 +3n+1)
) ~(2n% +3n+ 1)

: 1 2 ,

(3) = (2n*+3n+1)
(4) “n(n+1) (2n+ 1)

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 142 Question Id : 6672694509 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(iii) ~Statistical Ability
ﬁhﬂﬁﬁﬁﬂﬁgﬁhﬁbggg

The median of the following frequency distribution 1s

A
D
T

: 11 12

Jx 15 5l 18

A
[ a]
T

D i) Hee2meS gl fido
(1) S
(2) 7
(3) 2

(4) i1



Options:
1.%1
2 2
3. %3
4 % 4

Question Number : 143 Question 1d : 6672694510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(iii) ~Statistical Ability
eoR ST DTS

Mode of the following distribution is

X 0 1 2 3 4 5
[ 8 19 28 5 0 2
2 DPRH0 AANS, LRTVLESO
1) 1
2) o
3) 3
4) 4
Options:
1. %1
= 2
3. %3
4 % 4

Question Number : 144 Question Id ;: 6672694511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) ~Statistical Ability
PoWETRD aﬁh‘i:tgé

If the standard deviation of 5. 7. 9. .... 151 1s o. then the standard

deviation of 32. 44, 56. .... 908 1s

5.7.9. ... 151 o5 ddebsn 0 eond, 32. 44, 56. .... 908 o 5H odedo
(L) 20

(2) 40

(3) 60

(4) So

Options:

1. %1

o %oz

3. ¥ 3

4 % 4

Question Number : 145 Question Id : 6672694512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(iii) ~Statistical Ability

TRORSTRR PETe
Standard deviation of any five consecutive integers is
oT0 D BWD YRR 0 HIOBHO
1) V2
4
¥ s
2) :
2
3) \E
4) 5v2
Options:
1.v¥1

o B oo



3 ¥ 3
4 % 4

Question Number : 146 Question Id : 6672694513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(iii) Statistical Ability
RoWETRD a“"“”gsé

If the sum of the squares of deviations of ranks of two students in five

subjects 1s 16. then the coefficient of rank correlation is

mﬁaa’:@égﬁ agmw%o&mmdm:ﬁugam)ﬁc15m%mm

oaso
(1)

(2)

(4)

Options:
1.v1
o %D
3 %3
4 % 4

W lw W ke |

Question Number : 147 Question 1d : 6672694514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

A fair com i1s tossed repeatedly. If tail appears on first four tosses. then

the probability of head appearing on fifth toss is

28 DaR,§8 R, HTHW AVOIVD. HVOIAD B0GE e o0 DB,
DEIRO LODRBYE S, DESERDS HogREkS

(2)
(3)

(4)

Options:
1. % 1
o %D
3 %3
4. v 4

B = W= = O]

Question Number : 148 Question Id : 6672694515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

If a number 1s selected at random out of the first 120 natural numbers.

then the probability that 1t is divisible by 5 or 8 1s

S0o6€ 120 Dz Homse Hoob aireQEore 2By, 25 dows 5 we 8 B
grfodthés to HozrHs

(1)

(3)

B = le Nl M
=]

(4)

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 149 Question 1d : 6672694516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a"ﬂ‘ﬂgsé

If a coin is tossed five times the probability that at least one head appears

on the top is

25 TRER, DENG HVOSVHYLE 5DH0 257D 1 FPED, EODOLE Do

;3

(1) =

) =

32

_ 31

(3) -

) §

(4) e
Options:
1. %1
o %o
3. v 3
4 % 4

Question Number : 150 Question Id : 6672694517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a"ﬂ‘ﬂgsé

If 4 and B are two events in a random experiment with P(A)zg.

P(B)== and P{AF\B}:%. then P(AUB)=

oo | LA

3 5
A. B oo 258 asngy 9 HAER00E30 Both gobden, F(A) = & P(B)= g Woxin

P(AnB)= % oond P(AUB)=

1
] =k
(1) ;
@) :
5, =
4
1
(3) =
2
4) -
=
Options:
1. %1
2 2
3z %3
4 % 4
Corrnunication Ability
Section Id : 66726966
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 38
Number of Questionsto be attempted: 38
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1



Sub-Section 1d: 667269453
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 6672694518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Choose the correct meaning for the word given:

Throes

(1) throw
(2) spasm
(3) develop
(4) rough

Options:

1. %1

2 2

3 %3
4 % 4

Question Number : 152 Question Id ;: 6672694519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Altercation

(1) exchange of views
(2)  dispute

(3) discussion

(4) expressing opinion

Options:
1. % 1
2 D
3 %3
4 % 4

Question Number : 153 Question Id ;: 6672694520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Victual

(1) provisions
(2) real

(3) various
(4) simple

Options:
1.v1
o %D
3 %z
4 % 4

Question Number : 154 Question 1d : 6672694521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct meaning for the word given:
Insipid

(1) quck
(2) duty
(3) tasteless

(4) diluted

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 155 Question Id : 6672694522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Wayvlay
(1) road
(2) detain
(3) allow
(4) play

Options:

1. % 1

2 2

3 %3

4 # 4

Question Number : 156 Question 1d : 6672694523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Choose the correct meaning for the word given:

Candid

(1) sweet

(2) pleasing
(3) frank

(4)  dishonest

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Sub-Section Number: 2
Sub-Section 1d: 667269454
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 6672694524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blank choosing the correct word

The principal the good character of the pupil.

(1) enforced
(2) endorsed

(3) executed

(4) 1mplanted
Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 158 Question Id : 6672694525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank choosing the correct word

Ramya her friend for being lazy

(1) admired
(2) repudiated
(3) reproached
(4) exorcised

Options:

1. %1

o %D

3.¢3
4 % 4

Question Number : 159 Question Id : 6672694526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blank choosing the correct word

Police investigators the case with photographs and recorded
INLETVIEWS.

(1) 1nterrogated
(2) followed
(3) flouted

(4) documented
Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 160 Question Id ;: 6672694527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank choosing the correct word

Many African countries are by mfighting and civil war

(1) devalued
(2) devastated
(3) deviated
(4) devoured

Options:
1. %1
e g
3 % 3
4. # 4

Sub-Section Number: 3
Sub-Section 1d: 667269455
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6672694528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

Which of the following is the fastest way to connect to mternet?

(1)  Dial up modems

(2) ISDN

(3) Broadband DSL

(4) Fiber to the Home (FTTH)

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 162 Question Id : 6672694529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct answer

Which of the following protocol converts the URL into the corresponding IP
address of a webserver?

(1) DNS
(2) HITTP
(3) DHCP
(4) FTP

Options:

1.¥1

2 ® 2

3 ¥ 3

4 % 4

Question Number : 163 Question Id : 6672694530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A Wireless communication technology intended to replace cables 1s known
as

(1) Bit

(2) Blue tooth
(3) Book ink
(4) Boot

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 164 Question Id ;: 6672694531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

A Software program that has been developed to do harm to other computers
in known as

(1) Malware
(2) Virus
(3) Phishing
(4) Spam

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 165 Question Id ;: 6672694532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

Which one of the following is not a characteristic of computers?

(1) Accuracy
(2) Fatigue
(3) Automation

(4) Robustness
Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 166 Question Id : 6672694533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer

Which of the following describes the nature of management?

(1) Management is an exact science
(2) Management is liberal art
(3) Management is an inexact science

(4) Management 1s a fine art
Options:
1. %1
2 %2
2.3
4 % 4

Question Number : 167 Question Id : 6672694534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

What helps mn easy identification and accounting of transactions at retail
stores?

(1) Barcoding
(2) Balance sheet

(3) Management Information System

(4) Cost Sheet
Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 168 Question Id : 6672694535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

Who 1s the present Governor of RBI?

(1)  Mr. Shaktikanta Das
(2) Dr. Urjit Patel

(3) Dr. Bimal Jalan

(4)  Mr. Rajiv Kumar

Options:
1.v1
o %D
3 %z
4 % 4

Question Number : 169 Question Id ;: 6672694536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

Increase in value of an asset over time 1s known as

(1) Demand
2)  Appreciation
(3) Depreciation

(4) Inflation
Options:
1. %1
oD
3 %z
4 % 4

Question Number : 170 Question Id ;: 6672694537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

A short period of temporary economic decline during which trade and
industrial activity 1s reduced 1s known as

(1) depression
(2)  depreciation
(3) recession

(4)  succession

Options:
1. %1
2 %
3. v 3
4 % 4

Sub-Section Number: 4
Sub-Section 1d: 667269456
Question Shuffling Allowed : Yes

Question Number : 171 Question 1d : 6672694538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Choose the correct answer

A: “He’s hoping to set up a travel business on his own.”
B: “Yes. but the likely cost of it all will put him off”.
‘B’ is

(1) encouraging
(2)  sceptical
(3) enthusiastic

(4) disappointed
Options:
1. % 1
2 VD
3 %3
4 % 4

Question Number : 172 Question 1d : 6672694539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer

A: “Why don’t you do the cooking today?”
B: “As far as cooking 1s concerned, I am a square peg in a round hole.”
‘B’ implies that he 1s
(1) uncomfortable

(2) agreeable

(3)  happy
(4) competent
Options:
1.v1
o ® 2
3. % 3
4 # 4

Question Number : 173 Question Id : 6672694540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“He told us the story in a nutshell.” The meaning of the underlined phrase 1s

(1) to conclude
(2) totell in a few words
(3) to tell elaborately

(4) to begin
Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 174 Question Id : 6672694541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

The passive form of the sentence. ‘Someone might have already dispatched
the letters’ 1s

(1)  Letters were dispatched already
(2)  Letters might have been dispatched
(3)  Letters might have already been dispatched

(4)  Letters have been dispatched already

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 175 Question Id : 6672694542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“Let’s run over the plans again.” The underlined phrase means

(1) read
(2) write
(3) store

(4) review
Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 176 Question Id ;: 6672694543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct answer

“You really should put vour foot down or there will be trouble later”. The
underlined phrase means

(1) bekind
(2) be interested
(3) Dbefirm

(4) Dbe angry
Options:
1. % 1
o %D
3. v 3
4 % 4

Question Number : 177 Question 1d : 6672694544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Choose the correct answer
“I wouldn’t like to go through that again™. The underlined phrase means
(1) enter

(2) endure

(3) receive

(4) Raise

Options:

1. %1

2 ¥z

3 % 3

4 % 4
Sub-Section Number: 5
Sub-Section 1d: 667269457
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 6672694545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

The mntravenous drug will through the patient’s body in about
20 minutes.

(1) defuse
(2) diffuse
(3) 1mbibe
(4) infuse

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 179 Question Id ;: 6672694546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

When he was teaching. all the students silent.

(1) had been
(2} =
(3} were
(4) has been
Options:
1. % 1
2 ® 2
3. v 3
4 % 4

Question Number : 180 Question Id : 6672694547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

When I was eating. the phone

(1) 1s ringing
(2) rang

(3) ringing
(4) r1ing

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 181 Question 1d : 6672694548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

They got their car quuckly
(1) 1
(2) on
(3) 1nto
(4) over
Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 182 Question Id : 6672694549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

We shall see whether they are amenable reason.
(1) for
(2) with
(3) against
(4) to
Options:
1. %1
2 %2
3. %3
4. v 4

Question Number : 183 Question Id : 6672694550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

There was an accident in the morning. A bus collided a car
(1) 1nto
(2) with
(3) on
(4) at
Options:
1. %1
2 2
3 %3
4 % 4

Question Number : 184 Question Id : 6672694551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

Sales have really Nnow

(1) taken off
(2) takenup
(3) takenin

(4) takento

Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 185 Question 1d : 6672694552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

The summer very early in the South
(1) setin
(2) setoff
(3) setup
(4) seton
Options:
1.91
o %2
3 % 3
4 % 4
Sub-Section Number: 6
Sub-Section Id: 667269458
Question Shuffling Allowed : Yes

Question Id : 6672694553 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)

Read the following passage and answer questions

Unconsciously. managers without leadership qualities will often seek, above
all else. to be liked. Rather than holding people accountable. they let them off the
hook. They give non-performers the uneasy feeling that everything’s fine. They are
managers who seek approval rather than respect. But this habit has a severe
consequence. It leads to a lack of trust in the work place. the most common “issue”
on employee surveys. A true leader does not focus first on trying to be liked. A
true leader focuses on the practices and communications that lead to being
respected. A true leader does not try to become everybody’s big buddy. although
he or she values being upbeat and cheerful in communication. A true leader 1s not
overly concerned with always bemng liked and 1s even willing to engage in very
uncomfortable conversations in the name of being straight and thorough. A true
leader does not try to downplay responsibility for leadership.

Sub questions



Question Number : 186 Question Id : 6672694554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What does a bad leader seek?

(1)  approval from others

(2)  trust

(3) work
(4) lack of responsibility
Options:
1.91
o %2
3 %3
4 % 4

Question Number : 187 Question Id : 6672694555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does ““let them off the hook™ mean?

(1) give them free time
(2)  give them easy jobs

(3) encourage unaccountability

(4)  punish them severely

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 188 Question I1d : 6672694556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What 1s the most common ‘issue’ on employee surveys?

(1) the manager is too popular
(2) the manager does not trust the worker
(3) there is no firm belief in the ability of managers

(4)  the manager does not do any work.

Options:



1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 189 Question Id : 6672694557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
“A true leader does not try to become evervbody’s big buddy....” Explain

(1) everybody’s enemy
(2) everybody’s master
(3) everybody's superior

(4)  everybody’s friend
Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 190 Question Id : 6672694558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is a true leader prepared to do?

(1) 1ncur even displeasure to promote honesty and efficiency

(2)  fight for his rights
(3)  discipline his workers
(4)  exploit his position

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Sub-Section Number: 7
Sub-Section 1d: 667269459
Question Shuffling Allowed : Yes

Question Id : 6672694559 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



Read the following passage and answer questions

You are poised at a crucial juncture of your life. when many paths are open
to you. You are like a princess who has but to command and your desires are
fulfilled. Sull it would be prudent to remember that the saying “All that glitters 1s
not gold”. was never truer than it 1s today. In this age of virtual reality all that your
senses perceive will more often than not be an illusion. There are many rainbows
that the world will display to entice you: make sure that what you chase will bear
closer scrutiny: remember also that you win some and lose some. and above all
never forget that hard work will always pay vou in the long run-even if Lady Luck
does not smile at yvou at first.

The glamour displayed m the media coupled with the success of some of
your friends and acquaintances in beauty contests, modeling. acting and so on must
be awfully tempting to emulate. You would do well. however. to peer behind the
scenes and decide whether the world of cut-throat competition that exists behind
the facade 1s something you can take m your stride. Spare a thought for the
thousands who were possibly more beautiful. more gifted. more graceful but lost to

anonymity having staked and lost all in the vicious rat race.

Sub questions

Question Number : 191 Question Id : 6672694560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What does the discussion represent?

(1) dream world

(2) realism

(3) bad advice

(4)  the future of films
Options:
1. %1
2. 2

3 ¥ 3
4 % 4



Question Number : 192 Question Id : 6672694561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What must be remembered?

(1)  that you win some and lose some
(2)  that you can win all. i1f you are clever
(3) that you win all and you lose some

(4)  that you win some and lose all

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 193 Question 1d : 6672694562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What does happen even if Lady Luck does not smile on your face first?

(1)  You will never be lucky
(2) Hard work will never pay
(3) You will stop working

(4) Hard work will always pay you in the long run
Options:
1. %1
2 ® 3
3. %3
4. v 4

Question Number : 194 Question Id : 6672694563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What does the success of some of vour friends in beauty contests mean to
you?

(1) 1t1s tempting to emulate
(2) 1t makes one jealous
(3) 1t 1s insignificant

(4) 1t 1is a bad example
Options:
1.¥1
2 %
3 %3
4 % 4

Question Number : 195 Question Id : 6672694564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What must one keep in mind before deciding to enter into beauty contests.
modeling, acting and so on?

(1)  that one 1s bound to succeed anyway
(2)  that the most beautiful will make it big
(3) that one needs a lot of grace to succeed

(4)  that 1t 1s a rat race out there
Options:
1. %1
o %o
3 %3
4 9 4

Sub-Section Number: 8
Sub-Section 1d: 667269460
Question Shuffling Allowed : Yes

Question Id : 6672694565 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Read the following passage and answer questions

The Japan Society’s crash course on how to bridge the chasm between
Japanese and American managers forces participants to examine their own cultural
assumptions. as well as to learn about the other side. Behaviors which Americans
consider trustworthy are often precisely that which Japanese associate with shifty
character and vice versa.

To Americans. people who pause before replying to a question are probably
dissembling. They expect a trustworthy person to respond directly. The Japanese
distrust such fluency. They are impressed by somebody who gives careful thought
to a question before making a reply. Most Japanese are comfortable with periods of
silence. Americans find silence awkward and like to plug only conversational gaps.

The cherished American characteristics of frankness and openness are also
misunderstood. The Japanese think it 1s sensible as well as polite for a person to be
discreet until he 1is sure that a business acquaintance will keep sensitive
information confidential. An American who boasts. “I am my own man” can
expect to find his Japanese’s hosts anxiously counting chopsticks after business

lunch. As the Japanese see it. individuals are anti-social. Team players are sound.

Sub questions

Question Number : 196 Question Id : 6672694566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Japan Society’s crash course does not include one of the following

(1) to examine cultural assumptions
(2)  to learn about each other’s cultural assumptions

(3) to bridge the gap between American and Japanese
managers

(4) to judge the behvaiour of both American and Japanese
managers
Options:
1. %1
2 %z
3 %3



4 ¥ 4

Question Number : 197 Question Id : 6672694567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
If someone pauses before replying to a question. Americans think she/he 1s
probably

(1) giving a careful thought
(2) putting a false front
(3) reconsidering the idea

(4) considering a second line of opinion
Options:
1. %1
2 ¥z
3 %3
4 # 4

Question Number : 198 Question 1d : 6672694568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The Japanese are impressed by

(1)  careful thought before answering
(2) awkwardness in answering
(3) fluency in answering

(4) dissembling in answering
Options:
1.¥1
2 ® 2
3 %3
4 # 4

Question Number : 199 Question Id : 6672694569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The Americans are embarrassed by

(1)  careful replies
(2)  hesitant answers
(3) silences i conversation

(4) frank outspokenness
Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 200 Question Id : 6672694570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
“The Japanese think team players are sound”. ‘sound’ here means

(1) loud
(2) noisy
(3) reliable

(4) 1mportant
Options:
1. % 1
o %D
3. ¥ 3
4 % 4



